l : The difference will be a number of the form (2n+1)+(2n+3).. +(2n+2k—1) with
k>1. One can establish by induction that this is k(2n+k). Hence 43 is a possible
answer. On the other hand
44=12"{2}-10"{2}
45=77{2}-2"{2}
48=8"{2}-4"{2}
Thus the correct answer is A.

vy Sol: Each number n is precisely of the form p*k*q"m with —1<k<14 and ~1<m<6.
Hence d—14*6—84 Hence the answer is A.
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’/ Sol: The vertex absclssa solvcs —2x+200=0. Thus x=100, also the average root. Hence

| y=40,000 and Disthe correct answer.
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J5. | SoliThe solutions form a circle of diameter 2* sqrt(1000). This is
approximately 62 and thus the answer is C.
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